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Write in the missing number.

 

1  +  10  + 
  

=  100

1

M0217  Num           N3k1 N2a1 L4  

1

1 mark

M003744(a)  –  14 August 2014 11:40 AM – Version 2

M003489_freezy Num N2c4 L3

Put these temperatures in order, starting with the lowest.

21ºC −13ºC −24ºC 0ºC 35ºC  

ºC ºC ºC ºC ºC

lowest

 

2

1 mark

2

M003489  –  14 August 2014 9:18 AM – Version 2

D00070A0424

[1 mark]

1
1

[2015]

4

1

150

200

250

300

180

170

330

220

100

70

2

11 12 13 14 15 16 17 18 19

Circle three numbers that add to make a multiple of 10

One has been done for you.

Draw lines to join all the pairs of number cards which
have a difference of 30

1ii

2 marks

1i

2

1 mark

[2 marks]

2
2

[2005]
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04 1

The numbers in the two triangles add up to the number in the square.

 
 

10

15

25

Using the same rule, write in the missing numbers.  
 

 

55

75

25

120

1

M0846                                              Num N3a                                               L3  

1b

1 mark

1a

1 mark

M0846_2  –  14 January 2013 4:43 PM – Version 2

[2 marks]

3
3

[2013]



4

Draw lines to join the circle to two more number cards
which make 150

1

2 marks

1

Write in the missing numbers.

5 t 70 =

4 t = 200

2

2b

1 mark

2a

1 mark

[1 mark]

4
4

[2002]
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1 Write the missing number.  
 
 One is done for you.

160180
is 20 more than

105
is 20 more than

237
is 20 more than

160180
is 20 more than

105
is 20 more than

237
is 20 more than  

1 mark

 

1 mark

M004436_20more  –  22 April 2015 2:44 PM – Version 3

KS2 item template version 1.1

3N2

S00060A0424

[1 mark]

5
5

[2016S]



Circle three numbers which add to make 190

10 30 50 70 90
1

1 mark

1

Write in the missing number.2

8 t = 400 2

1 mark

Shade in two more squares to make this design
symmetrical about the mirror line.

You may use a mirror or tracing paper.

3

1 mark

3

2

[1 mark]

6
6

[2001]

Draw a line to join two other numbers which have a total of 700

225

360 125

325

475

440

340

1

1

1 mark

1

1

Draw a line to join two other numbers which have a total of 700

225

360 125

325

475

440

340

1

1

1 mark

1

1

[1 mark]

7
7

[2000]

 4

Circle the time that is 30 minutes before midnight.

  12:30am  12:30pm 

  11:30am  11:30pm  3am 
1

1 mark

1

Here are four digit cards.

4 6 2 7

Use all four digit cards to make this sum correct.

 +  = 100 2

1 mark

2

289982_KS2Ma_2009_081212_v0.0_Ho4 4289982_KS2Ma_2009_081212_v0.0_Ho4   4 09/12/2008 16:28:0109/12/2008   16:28:01

[1 mark]

8
8

[2009]



 4

Circle the number closest to 100

 70 120 85 111 909  
1

1 mark

1

Here are six number cards.

10 20 30 30 40 50

Use all the number cards to complete the two sums below.

 

+ =
 

 

+ =
 

2

1 mark

2

2M008_V01_KS2MathsTestB_05012011.indd   4 23/12/2010   16:05

[1 mark]

9
9

[2011]

 4 

Write in the missing numbers.

+ 75 = 90

 

1a

1 mark

4 × = 200

 

1b

1 mark

   

Circle one number in each box to make a total of 1000

 150 150

250 200 250

350 400 350

450 450

 

2

1 mark

2

1

21 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37KS2 MathsTestA_275355.indd   4KS2 MathsTestA_275355.indd   4 6/2/07   5:19:36 pm6/2/07   5:19:36 pm

[1 mark]

10
10

[2007]



4

1

150

200

250

300

180

170

330

220

100

70

2

11 12 13 14 15 16 17 18 19

Circle three numbers that add to make a multiple of 10

One has been done for you.

Draw lines to join all the pairs of number cards which
have a difference of 30

1ii

2 marks

1i

2

1 mark

[1 mark]

11
11

[2005]

4

1 Write these prices in order from smallest to largest.

99p £10.50

£0.75 £9 £2.05

smallest largest

2

64 32 16 8 4 2 1

Circle the numbers that add up to 100

1

1 mark

2

1 mark

[1 mark]

12
12

[2005]

4

Write in the missing numbers.

37 t = 111

225 m = 150

} 4 = 21

1

Here are five digit cards.

Use all five digit cards once to make this sum correct.

+

6 0

54321

2

1a

1 mark

1b

1 mark

1c

1 mark

2

1 mark

[1 mark]

13
13

[2003]



 4

Write these prices in order, starting with the smallest.

 
72p £2.70 £0.27 £7.20 £2.07

   
 

smallest

 

1

1 mark

 

 

1

Amy chooses two of these cards.

11 23 33 43

She adds the numbers on her two cards together. 
She rounds the result to the nearest 10

Her answer is 60

Which two cards did Amy choose?

  and  2

1 mark

2

[1 mark]

14
14

[2010]

 6

What’s my number?

? ? ?
 

It is a three-digit number.

All the digits are odd.

The digits add up to 7

What could my number be?

    
3

1 mark

3

Draw the reflection of the shaded shape in the mirror line.

mirror line

  

4

1 mark

4

[1 mark]

15
15

[2010]



05  27

Here are six digit cards.

1 2 3 4 5 6

Use four of the cards to make this addition correct.

 +  = 40 

3

M01027 sixgun Num N3e2 N1d L3 UAM

3

1 mark

M01027_2  –  13 October 2012 5:25 PM – Version 1

Total out of 3

[1 mark]

16
16

[2013]

Total

Write in the missing numbers.

150 + = 500

172 – = 60

2

2a

1 mark

2b

1 mark

Here is a jigsaw with one piece missing.

Which one of the pieces below fits the hole in the middle?

3

3

1 mark

2

[2 marks]

17
17

[2000]

 5 Total out of 4

The sum of two numbers is 100

Write in the missing digits.

 
3 + 3 = 1 0 0

 

3

1 mark

 

3

Measure accurately the length of the shortest side of this triangle.

Write your answer in centimetres.

 
cm

 
4

1 mark

4

3637 35 34 33 32 31 30 29 28 27 26 25 24 23 22 21 20 17 16 15 14 13 12 11 10 9 8 7 6 5 4 3 2 1KS2 MathsTestB_275356.indd   5KS2 MathsTestB_275356.indd   5 14/2/07   3:13:01 pm14/2/07   3:13:01 pm

[1 mark]

18
18

[2007]
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Write the three missing digits to make this addition correct.

1 5

+ 4 4

1 5

3

2 marks
M003167

M003167_add-on  –  20 October 2015 1:24 PM – Version 4

KS2 item template version 1.1

3C2 5C1

E00070A0624

[2 marks]

19
19

[2016]

Page 6 of 24 

M01500_ triadd Num N3i1 L3

Circle three numbers that add to make 750

 450 350 250 150 50  
4

1 mark

4

M01500  –  4 October 2013 1:44 PM – Version 2

 1windmill SSM SSM3b2 L3

Complete this shape so that it is symmetrical about the mirror line.

Use a ruler.

mirror line

 

3

1 mark

3

M01574  –  21 October 2013 10:58 AM – Version 2

[1 mark]

20
20

[2014]

 6 

Each missing digit in this sum is a 9 or a 1

Write in the missing digits.

+ + = 201
4

1 mark

4

Here is a baby’s drinking cup.

100ml

200ml

How many millilitres of water are in the cup?

ml 5

1 mark

5

[1 mark]

21
21

[2006]

Write in the missing number.

60  +  99  +    =  340 4

1 mark

4

5

4

A shop sells postcards in packs of 6 and packs of 8.

Alan bought 4 packs of 8 cards.

How many cards did he get?

Shereen bought some packs of 6 cards.

Altogether she has 30 cards.

How many packs of 6 did she buy?

5b

1 mark

5a

1 mark

3

[1 mark]

22
22

[2000]
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 This table shows the heights of three mountains.

Mountain Height in metres

Mount Everest 8,848

Mount Kilimanjaro 5,895

Ben Nevis 1,344

 
 
 
 How much higher is Mount Everest than the combined height of the 

other two mountains?

2 marks

Show 
your 

method

m

4

6C4  Three Mountains

KS2 item template version 1.2

M004847  –  14 December 2016 11:37 AM – Version 3

F00070A0624

[2 marks]

23
23

[2017]

 17 Total out of 5

Calculate 3.81 + 18.3

  
17

1 mark

17

Dev has three discs.

Each disc has a 7 on one side  
and an 8 on the other side.

He spins all the discs and adds the three scores together.

How many different totals can he get using the three discs?

  
18

1 mark

18

[1 mark]

24
24

[2011]
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  This table shows the number of people living in various towns  
in England.

Town Population

Bedford 82,448

Carlton 48,493

Dover 34,087

Formby 24,478

Telford 166,640

 
 

What is the total of the numbers of people living in Formby and  
in Telford?

 

What is the difference between the numbers of people living  
in Bedford and in Dover?

 

4

1 mark
 

1 mark
M003326

M003326_Population increase  –  8 December 2015 1:32 PM – Version 6

KS2 item template version 1.1

4S1 6N5

E00070A0724

[2 marks]

25
25

[2016]



 7 

A clock shows this time.

   

PM

How long is it from this time until 5pm?

6a

1 mark

What time was it quarter of an hour before the time on the clock?

pm 6b

1 mark

6

Complete this diagram so that the three numbers in each line
add up to 150

60

40

50

80

90

5

1 mark

5

 7 Total out of 5

[2 marks]

26
26

[2006]

10 1

The table shows the cost of a new football kit.

 
 

Item Cost

Shirt £8.75

Shorts (1 pair) £5.95

Socks (1 pair) £4.15

  

8

M0850        Num N4a N3j                                            L4  

Altogether, how much does the complete football kit cost?

 
£

 

£8.7
5

£4.1
5

£5.9
5

8

1 mark

M0850_2  –  15 October 2012 11:27 AM – Version 2

 1

Here are some sentences about an amount of money.

Mark each sentence with a tick ( ) if it is correct.
Put a cross ( ) if it is not correct.

One has been done for you.

£1.03 can be made with exactly 1 coin.

£1.03 can be made with exactly 2 coins.

£1.03 can be made with exactly 3 coins.

£1.03 can be made with exactly 4 coins.

 

9

9

1 mark

M0838_2  –  5 December 2012 1:27 PM – Version 2[1 mark]

27
27

[2013]
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In this diagram, the numbers in the triangles add together to make 
the number in the circle.

The number in the square is 6 less than the number in the circle.

10 15

25

19

add

6 less

Write the four missing numbers in these diagrams.

  8

32

add

6 less

30

85

add

6 less

 

6a

1 mark

6b

1 mark

6

M01045 mobile Num N3a1 L3 non-calc

M003711  –  1 September 2014 1:18 PM – Version 1

D00060A0824

[2 marks]

28
28

[2015]
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In these calculations, each missing sign is a + or a –

Write the missing signs in the circles.

  8  7  6  5 = 2  
6a

1 mark
 

  8  7  6  5 = 4  
6b

1 mark
 

6

M01034 addingham 2 Num N3a1 N1b  L3/L4 UAM non-calc

M01034_2  –  3 October 2013 1:20 PM – Version 1

Megan has 7 coins that make one pound.

The coins are of only two different kinds.

What are the 7 coins?

       
7

1 mark

7

M01512_coin-op Num N4a N1b L3 UAM

M01512  –  29 October 2013 1:52 PM – Version 2

[2 marks]

29
29

[2014]

Total

Here are some number cards.

Use five of the number cards to make this correct.

6

+

5 4 8

7

7

1 mark

6

2 marks

Write in what the missing numbers could be.

( ÷  ) + 90 = 100

5

[2 marks]

30
30

[2001]



Total

Draw the reflection of the shape in the mirror line.

Use a ruler.

You may use a mirror or tracing paper.

6

6

1 mark

Write two numbers, each greater than 100,
to complete this subtraction.7

4

2 0 8— = 7

1 mark

Total

Draw the reflection of the shape in the mirror line.

Use a ruler.

You may use a mirror or tracing paper.

6

6

1 mark

Write two numbers, each greater than 100,
to complete this subtraction.7

4

2 0 8— = 7

1 mark

[1 mark]

31
31

[2000]

 9 Total out of 4

The four sums below can be completed using only the numbers 1 to 8

Use each number once to complete the sums.

One sum has been done for you.

1  2  3  4  5  6  7  8

1 + 5  + 6  = 12
 

2 +  +  = 12
 

3 +  +  = 12
 

6 +  +  = 12
 

8

8i

8ii

2 marks

[2 marks]

32
32

[2011]



 9 Total out of 4

A book has five stories in it.

This is the contents page.

Contents

 page

Rocket Ship  5

Night Journey  17

Secret Palace  25

Jack  41

Deep Water  59

Deep Water finishes on page 68

Which is the longest story?

  
9

1 mark

9

[1 mark]

33
33

[2010]



 10 

A, B, C and D are the vertices of a rectangle.

A and B are shown on the grid.

0 1 2 3 4 5

A

B

6 7 8 9

1

2

3

4

5

6

7

D is the point (3, 4 )

Write the coordinates of point C.

( , ) 9

1 mark

9

Here is a number sentence.

? + 27 > 85

Circle all the numbers below that make the number sentence correct.

30 40 50 60 70
10

1 mark

10

[1 mark]

34
34

[2006]
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Write the four missing digits to make this addition correct.

6 8

+ 3 9

09 1 9
 

2 marks

 

11

2 marks

M003980_missadd  –  22 April 2015 1:42 PM – Version 4

KS2 item template version 1.1

4C2

S00070A1324

[1 mark]

35
35

[2016S]

12

Write in the missing digits.

12

1 mark

4 4 + 3 8 = 8 5 1

12

Here are a pencil sharpener, a key and a rubber.

What is the length of all three things together?

Give your answer in millimetres.

What is the length of the key?

Give your answer in millimetres.

mm

mm

13

13b

1 mark

13a

1 mark

[1 mark]

36
36

[2002]



15  13

Here are five number discs.

  
1 5 73 9

Look at the cross pattern below.

Use each disc once so that the total across is the same as  
the total down.

One has been done for you.

  55

  
14

1 mark

14

M01013 disco Num N3d N1e L4 UAM

M01013_2  –  13 October 2012 5:20 PM – Version 1

Total out of 3

[1 mark]

37
37

[2013]

Page 16 of 24 M01631_Digital Num N3e2   N1e   L4 UAM

Write the two missing digits.

1 – 2 = 34
 

15

1 mark

15

M003510  –  13 August 2014 3:50 PM – Version 2

Liam has five coins.

Three of the coins add up to 30p.

Three of the coins add up to 40p.

All five coins add up to £1

What are the coins that Liam has?

p
 

p
 

p
 

p
 

p
 

16

1 mark

16

M003497_big spender Num N4a N1b L4 UAM

M003497  –  13 August 2014 3:52 PM – Version 2

D00060A01624

[1 mark]

38
38

[2015]



Page 17 of 24 M01571_boxer b Num N3e2 L4 UAM

Write numbers in the boxes to make this calculation correct.

50 – = + 10  17

1 mark

17

M01571  –  21 October 2013 11:10 AM – Version 2

Total out of 3 

[1 mark]

39
39

[2014]

 15 Total out of 5

Three different numbers add up to 40

The numbers are all even. 

Each number is less than 20

Write what the three different numbers could be.

    +  +    = 40 17

1 mark

17

Liam makes a sequence of numbers starting with 300

He subtracts 125 each time.

Write the next two numbers in Liam’s sequence.

300 175 50
 

18

18a

1 mark

18b

1 mark

[1 mark]

40
40

[2010]

18

Write in what the missing numbers could be.

170 + = 220 – 20

1 mark

The distance from A to B is three times as far as from B to C.

The distance from A to C is 60 centimetres.

Calculate the distance from A to B.

cm

20

21

21

2 marks

Not drawn to scale

[1 mark]

41
41

[2002]

18

Here is a rectangle with six identical shaded squares
inside it.

The width of the rectangle is 7.2 centimetres.

Calculate the length of the rectangle.

Not actual size

cm

22

Write the largest whole number to make this 
statement true.

50 + < 73

21

!22ii

2 marks

!22i

!21

1 mark

[1 mark]

42
42

[2004]



Sourced from SATs-Papers.co.uk https://www.SATs-Papers.co.uk

[1 mark]

43
43

[2012]


